Physics : Section-A (O
—————2 * Section-A (Q. No. 1 19 %) ]
3 : : et 10 G

wheel of a bullock cart n e

road as gy : 15 rolling on a fes
~OWN an the figure below, If its lim::rl .

Speed js 4 ¢ :
: n oot

Ri t‘n!]u“;.m”m direction shown, which ane of
SNy E Options is ¢
highes = 15 correct (P and

st and | A and {J are any
S ; owest poi #
fespectively)? HOIIN On the wheel,

F

o

(1) Point # moves faster i
aster than point O,
(27 Both the points P and Q ri{:wcg
speed.
(3) Point P has zero speed.,

with equal

(4) Point 2 moves slower than point 0. >
2 Match List I with List 1.
{Spﬂ.l"tllr::tll Li | § s
ines o
£ (Wavelengths (nmj))
transitions from)
A. my=3tom=2 . 4102 6
B. m=41to n=2 II. 4341
C. m=5tonm=2 1. 656.3
D. m=6ton=2 IV. 486.1
Choose the correct answer from the options given
below :
(1) A-III, B-1V. C-11, D-I %
(2) A-1V, B-I, C-I, D-II i
(3) A-L B-IL. C-lIL, D-IV \

(4) A-Il, B-I, C-IV, D-IIi
— e —_—t

3 A thermodynamic sysiem is taken through the
cycle abeda. The work done by the gas along the
path be is : &

L

@*In-
i o

mz’: cen i l:: -
100 ---i::b V% ;

100ca? 400w’ sa"ﬂ"
=kl 3

'%?Bl

The terminal voltage of the battery. wheyee
S L = B

10F and internal resistance 1 £2. when CONMNiegy
Bty
“"““F—h an external resistance of 4 (3 ag

: -.|'|..1_,\
in the figure is : )

40
‘\ e E

i 1Y
——|

Yol N
(1) 6v \_{,}(3;-'
(3) 10w 4) 4v

] s Y
In an ideal transformer. the turns ratio is Tf’ = 1;
el -

The ratio Vsl is equal to (the symbols carmy

their usual meaning)
m{r’i’@a G et

G) 1-4 @ 1:2 T

A light ray enters through a right angleg Prism
point P with the angle of mmden-::;? 30° ag P
in figure. It travels through the prisy, Derallr

its base BC and emerges _nlnn_g the Face P 0
refractive index of the prism is: - The

(3)

ot wlE o

The quantities which have the same dimensio|
as those of solid angle are :

y%f stress and angle
2) strain and arc

(3) angular speed and stress

S,’ f&' i & ”, ﬁ ;:i‘; (4) strain and angle
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A ﬁu,umluﬁncd by n
at B = ap
; a piy en time i} AC15 on Partic|
d”"'-‘"-‘iinm TR he I':ur!nr : o
A S o gpg B are o Which jq
L ' “Onstanyg ;.
A1) e
A) B &) 6p
!
(3 a3
: /r/ (4) |’V
o
41 A
& Iﬂ “.F Can: ] [
Pacitor IS Connee
SOUrce o. “eledtoq )
Olirce a4 shown in finie! Thutpi.:: 0V, 50 Hz
the circyir :. " Sifent ;
Circuiy jg Nearly (x = 3.14). ¢
E -0
0%
bt I
210 %, 50 gz, b
(1) -
) 093 4 1.20 4
3 035 4 (4) 0584
42 ‘tallic
A metalljc bar of Young’s modulys
0.5 x 10NN wed |
-3 X 10Ny~ and coefhi

13

cient ﬂflinearthermal

CXpansion 10-5 oc-1 length | m and areq of
cmss-secticﬁ: 103 m2 isheated from orc: to 100°C
without expansion or bending, TheSompressive
force developed in it js:

(1) 50x 103 N
(3) 2x103N

100 x 103N
(485 < 103N
A parallel plate capacitor is charged by connecting
it to a battery through a resistor. If I is the current
in the circuit, then in the gap between the plates :

(1

displacement current of magnitude equal to
| flows in the same direction as 1.

displacement current of magnitude equal to

(2)

46

I flows in a direction opposite to that of 1.

displacement current of magnitude 'greater
than I flows but can be in any direction.

(3)

there is no current.
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, COrragy oi g
Irg)
Fidge hﬂlnn,;e_ Ht whigh oM Ak, F
=V fhe

f ta
s g Magnetic pole, A force i5 nﬂﬁgdﬁum
- hold the sheet there if it i .
e iLis Magnetic._
. hold the sheey there if it is nnn—rhagneli
L
((?f Move the sheet away from the Pole with
uniform velocity jf jy 'S conducting,
move the sheey away from the pole with |
uniform velocity ifit is both, non-conductin
and non-polar. :
C_hc-nse the correct Statement(s) from the Options
given below:

(1) AandC only
A,CandD only

(3) Conly

(4) Band D only

7

Ifthe plates of a parallel plate capacitor connected
to a battery are moved close to each other, then

A. the charge stored in it, increases.
B. the energy stored in it, decreases.
C. its capacitance increas?s. : :
D. the ratio of charge 10 its polential remains
the same. Y
E. the product of charge and voltage increases.

Choose the most appropriate answer from the
options given below:
(1) A,C and E only
(2) B,DandE only
(3) A,Band C only

fw/A,B and E only

\ Cor
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= "d“'it\ t
(3 0 ( i
} Caction hﬂsﬂ one t Sy hEI"'h"‘*'-'lml DG By,
i
| Stﬂt-l (4) ::?I,Im O com F‘}lutu"‘ N fory, (i) "o /e
ECIr& Clion je at equilit ard Gity B Y91 OH
¥ 3 Mas Wium @ PCe
_alch ist I - 1) m!;
List | {Cﬁl‘nm ?lh_l'_‘_m 1] (i) *'{ /_
.. ‘()! {“‘I
¥ List g (Tv (i) ok w
N ¥pe of - KMno
A [CO(NH:) (NG']' ls“""ﬁ'rism) (iv) '(1'10--} l
s 3-}:]2 T (3) () I-;ﬂua'}r :
2 | olvate 75 (i) PCe
: : : 4) () W ;
B [CD(NH } (50 ] Br 1SOmerigy, (i) ngill
3 ” LlnL 59 l__f'| o
- A e = Lit"lall?l;l'im Fwith Lisy iy
_ - ISOmerjs enction) : :
= [CO(NHS)J [C!{CNJJ ] i List 11 (Reagenty
oy O i IDniz.atfgn & Condition,
s = A. 8 0
h 150merism QO‘TT ED':U L @)L‘L-,
D [CO(HEDJ ]CIL < . I
I-ﬂ V. C“deihali(m P~ 0 -"'Af'll'l‘_h-l.!..'l.lt'E-t
i iS(:-m 1 B. — '
Choose the correct answer from s .er:sn:. @ @-_ . @ I Cro,
below: 'S Options given C O’L]H Oél']. 5 -
. —
(Y A-L B-11I, C.1v, Doy e v,
2 - = ) . KOH, A
3) i : B-1V, L Dy » @,ul;g;m \
(4) -1, B-1V, gur, -1 * & 5. IV. () O,
(4) A-II, B-III, €%V, Do @rt K
T (8} (i) Zn-H-0
e o ] 2
- ’ PIgl Choose thé&€brrect answer from the aptions giv
57 In which of the following processes entropy below: I~ i
increases? g A-111gB-1, C-11, D=1V
A. A liquid evaporates to vapour. (g) A:V'tﬁ‘}f E‘“‘ gm
B. Temperature of a crystalline solid lowered {4:; :'W ;}-1‘ C'_“" D11
from 130 K to 0 K. L O
c. 2 NHI-ICO3(S}-—} I*.Ja)_(:lf_')3tsl + C{szg} RS HED{gI 60 In wDII-.:;E;‘qf[._\h\;qlulluw-.ng equilibria, K, and K
- are al’
D. Cly,—2 Clg o
28 3 from the options given (1) Hlmhﬁlztgl = 2 Hly,
Choose the correctanswer from the options g () CO@t HiO = COyg + Hay
below f A “i? - B +Cl “
. (328 ) 7= Blyg ¥ “h)
A, B and D~ (2) A C;"(‘_:d D (4) PCliu:?# PCly )+ Clyg
ndD .4 (4) Aan 3
(3) C a 5 9 i 1 Cuntd“'
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i Prows he , Telinn-R (). No. 86 to 100)
! X \_h'.df‘l.' .'.|'|er.ll'l‘ 1 "\I"-h-.\: done during reversible """"'""'q-ﬂ I
} e ottt oM pregg.. . e Mole of hydrogen gas £ =22
D 2 ; ”I "Hu” i[i;:" al = Pr “SUre nfag atmosphere 10 “Lunh-'-hlm- : -.,L‘ :
R Orh; LR (Give '--_-1'1_;
> e i 1ta] “I_“ nR= 2.0 cal =L mot-1) =
.hﬂﬁ.‘ ri"”h[' ) =413 0.,
the A1on s + 14 calories ¢ =
below - COmre n » ©Ctrop *Fspi 42 413.14 calories P Ht‘llh
/ : €r froqp 3 (3) ‘.l ; = E i
i’Li '\_]” Y N the '-]F"ll'nn_.; e @ 1|-U“C;1]..-.rm5 e ﬂf—@ﬂgth ¢
(2 A L i 2 ) calorie - P =
-1IT. B J-]] = r-\k%‘-’;- v
(3) A-Il g J C.qp, D 87 L rtpnd X
E r . Identify AWET.
(4) \-L g D11y ':1.“”} the correct ung.\\_.tr‘ Y e "
> L Dy, _Erh ") BE, has non-zer® q;&ci._ ccater than thjl"" :
M 'f“&/ 42 Dipole moment o€NE2 = Eﬂl"’ -
Hateh Lisy vit] N 7 of NH, W2  be drawh 'y
e B ! s cal
List ey @ *73 (3) Three cmmnlci‘ll forms =
2 _ 0
(Compyg,, nd) : List 11 *_a,a;?_%"‘ : %__, COZFmens tures can e drawn for
\- NH @ I‘le:fgc.,mmr}.} g ji] Three resonancs SHEue C_p fD“E
B BrF, : Tf‘ignnal Pyramida] © ozone. {f Q flowing
E . 5 ; . following
( '\h"‘f.; I HL|I_IHJ'L‘ M;mar 4B foﬁ'l-‘lc‘-l' in the o
oo P £ an
D. })'," I {}(.ld|1.:_-dm| 88 Major !v,n;dun.tsp:- are
r J - CEs
Choose the ¢, IV. Square Pyramidal reaction sequeét
' OITect ¢ .
below : “lanswer from the oplions given ot alc- EOH . B
- e .
(1) A By ¢ QAP A T B (maior)
=2 A, BV, C-IF D = t“"“i‘“ﬂ
() AL B-IV, C.1. Dy e N |
(3) A-ll, B-I11, C-IV, D-] P v | B C
4 ; i \ 2 :
vf/h”_\-i. B-IV, C-11, D-111 K®32 ] Hs¢ . B O
s - 'y\\f‘ ] A=
5 b
Which plot of In k ¢3 % is consistent with ;i pe  HaC
: . HLC =
Arrhenius equation? = i R
(2) A=
! OH i
o B €
(2) &= H3C A
":_ L (3) A=
Br
) : H4C
- '.-l_‘(.
= 4 B
%) = A=
|
1
T
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50 :
1 hk‘;m;.
L by I !‘IT L’ll’ﬂ‘h Iho
o 1O 4 hi t 1
(1) Ced+ Ch arg diamg
I-‘} ..E“ and | IJ:' - M During the
<) Gg3+ and g, A (Farrms o VTOPUIREION OF Nons
(3) Pn % I 1 ETrous amvmon inm ]IS — L.
o : and Spid+ FNiowing acighis added 19 preyn | th
Ce?* and vy, 40 :IE 0 S Y T Wty
“[I' A O hy : ‘.I'IHU.‘III%L-.I ‘;I”Fh"”‘- acud
UMpound X o KRS (2)  dilute niggge acid
- o - .h 0, 5
*erﬂﬂm;ng Pfl‘-:g;:: Ei:ns :1_‘, 0 0fA, 20% of B and BT dilute supphuric acid
N A 14;;;-”-_.”'& of X js . U ot C. Then, the empirical (4) dilute hytochloric acid
e (Given atomic m;awqe- FAS £y
Py ﬂvfu} -"’LBCR E:h?a,f-:;: :}—-Jﬂ:C-—RZu} 95 Identify the major product ¢ ¢
(3) ABC, @ ;\1[.31(:3 following reagton sequence - I"Tn1=¢|1 n
o i X CH, - CH gﬂ. TN e o
Gt:;;ﬂ b.e]nw are in cations. Uﬁillg T J 2 ) 2 ! ———s AT
quaintative analysjs. arrange them in increasin -
Eroup number ﬁ“T—P' VI & ——'_EILP.__, B — NaOH
A, AP+ B i N\ Partial hyd ;_I_Iqsis -—T-‘T_i__h" ¢
1 345Lc B W o cor © Ry o, o, (i
: . Co O (1) buty Lq y D = L |
Ma2+ utylnmuj
—& 2 ; Ll
Chooseﬂtlemmmnswcr from the options given (2) butanaptide \. 1
| below: o P A \E‘-Y- ) - bromobutanoic acid
(1) B,C.A.D. O ‘J‘_ ‘ﬁq; : (4) Ppo}'hll@Iu
& ECDBAy v ",,_f} -
(3) E.A B.C. D W 96 < Mass in pra of coppe -
{4} B,A. D, C1 &l‘ 9 6487 L‘. copper depﬂﬁltﬁd by, P
2 .:. A sl.url]- Nt through a voltmeter E'Un!lfl_.
. copper sulphdte solution for [0ire iy
9 7 1on tor 10 ;
. Cnﬂs}fi?”fmfu”owg reaction in a sealed vesse] (Given : Molagmass of C -_.—_-:E.Wtundb -~
;qumhbnum with concentrations of IF =96487 L : @ oL
2=3.0x103M, 0, =4.2 x 10-3 :
¥ 2 . iﬂ .'*J ¥
NO=2.8 x 103 M. and ,g/)’.ﬂ._’rlﬂfj (2) 315 o
INO, =N S ) 0.0315¢ (4) 315 1 >4
(2) E{E}m 2(g) o7 | o
= : ) . : il
1£0.1mol L of Ny, is taken in a closed vessel, @ 5 the glvtngactmn:
what will be degre®8f dissociation (@) of NO, ] O_? = CHKMnO/HY
e >
at equilibrium? H (major
(1) 0.0889 (2) 0.8889 product) 3
19) {0:n7 (4) 0.00889 i L ®.
LE
= - ‘ M (—coon "
;I;i: rate of a reaction quadruples when : (70‘
< Perature charges from 27°C 1o 5700 OH_OH '
_Gi.l culate the energg) of ac(iyation ' @y O_ IS |
ven R = 8,314 jgy-! mol-! Io . W CHT{-“—D
G) 3804 ko .y @ O-we~)
G ® O
RI_Engligy, I r
14 !
| Conii §
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€ king F 1
S4ndg ¢
”f'f"-'!h- Ut | | Nos
.qlf|||1£_-|,”|i r 3
M o
I i .
In the ligh, of g} e
- L 1 e b
i H!J"n:’l: i : L:“;
MSwer i, m the i
(1) B, s
Ih o1s - "
- Stae Men | and g, ;
Z) mlumnt lis gl :
% IS tryge buy at 3
- X | Al h'.'ﬂ'n:ri:“
emeq lis false I
y/ alse hy ":[dh.-rl
s o ent 15 trye
/| Sldtr:mtrn I ang Stater »
SHEEmENt {1 ar.
4E iy
99 The g
€ plot of OSmotic Pressyr
(mol -1y . |

e(1T)vsc

1) VS L MCentrati m
VES & che
oo S5 a straight Jip

25.73 L bar mo}- | The e with

femperatyre | '

o : | PETatlre oy whj *h

SMotic pressyre Measuremeny ie done :
se R=01

(UseR = 0.083 L bar mol~ K-l

(1) 310°C (2) 285739

(3) 12.08°C

&) 3700

100 The products A and B obtained in the following
reactions, respectively, are

3ROH + PCly 5 3RCI+ A ﬁ;ﬁ%’ﬁg?“%
ROH + p{:‘i;'*, RCI+HCI+B g o,y
(1) POCI; and H;PO, ey
(2) HPO, and fOC "-;,'J

(% H,PO; and POC;

(4) POCI; and H,PO;

R1 English |
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¥ o L -

e
call desemringr
rrbed AP

L L
g i yall moleculaf 'J".'-'::{t" ;_‘_"ﬂplc
Il :u:ul in fiving piaste=-
W) !"!1-*-q'nlwlip'nl1L
(27 Glycerides
[E | Carbohydmtes
(4) Amino acids
103 Mach List ! with Lis! " gt 1l
Back cross
List 1 S
A. Two gf more
alternative .
forms of 8 gene, i ploidy
B. Crossof Fi
progeny with
homozygous
recessive parent = Ao

C. CrossofF)
pmgc“}'wlllh
any of the parents

D. Numberof
chiromosome

rv. Testcross

sets in plant
Choose the correct answ
below:
(1) A-ll, B-l, C-111, D=1V
f AdIL BV, C-, DAL
(3)  A-1V, B-I1L, C-11, D-1
(4) A-l, B-11, C-11L, D-1V

S
er from the opuiens givel

| Contd...
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Q-::‘. Febenung g, the

=T oy e -‘l‘ﬂll'rnl_‘!ﬂ\.

gene of interest v

Organism>

A. The piece of DNA would pe able to Multiply
itself indcpenﬂbm'y in the Progeny cells of

e w Wich af
i e Flivas, T gy I'.;ﬂ.--fr;-r.r..r are u:ﬂlnur-rni and Feac :rr “1“:":1:-‘ . h“"m T ""Ilrlr.,.,
Provuge NeCty, A . 1gh' "-\'F‘I”'It:-n ¥ 'rrh‘ 1‘1
I The flow oS AWater) 1y are N milinnrm B h loropn 1
by water u) C. C¢o :
(g ]
{ In mag; of u_'a;cr_pnm'nmpd SPecics, the D ATp
Pollen grain. are Protecieg from Ctting NA[ Wiy
D.  Pollen grams afisome hy drophy e S are oy, 005¢ the o .
and ribbap like = hci'n“ . hSwer Fr""'l the “p!i:hqf&ll
E In some hydmphrtcs the Pollep Braing g (1) and only i
Carried Passively inside Water, (2) and E oy »
Choose the Correct ankwer from the “Plions gjy. 3) and E only -
below "-:_ ' c'g A B ang C only 0
(1) A.B Cang nly
wE o Dag 108 1y, type urcnnsenranun N whigp, th )
(2) A.C Dand_ﬁ:ﬂnl} Specieg are ta) n out f . 'ht"‘n Elhr'“h‘&‘
L — : a
(3) ByC Dang Bonly 1 placeg 'al settin cre[:;,m ",
ﬁ;dj C. D and E ofly oy Ced and giye, *Pecial care i Callgg, ¥ by
= Eoaceass (1) Eludwc:rsu}' Conseryyy;
<) Sem “COonservatiye Mmeth 3.
- : o 5 m
105 Listor endange gepicased by, (3) Su5tai'nabl¢ dmelupmenl ol
,I (1) wwr 1y (@) FOAM in-s ity Conservation
! B 1ueN &Y (4) GEAC
~ 109 Givep below are two Statemenye Q
06  What is the fate of‘grﬁgim of DNA Carrying only Statemen, L': Bt toxing are o) )

Is transferred Into ap alien : : e,
Statemen Il : gy toXin exjsts as 1“&“
Protoxin iy B. fhun‘ugieu.-.'m. :
ingestio by the insect the Inactiy

€ Protoyy

> . Converted into active fory, due 1o acidig pH

the organism 1y the insect gy

B. | may get inl@ated o the senome ofthe In the light of the aboye Statemengs_ ¢hogsg
recipient 7 correct ansywer from the Options given belggy

C. It may mullip&:pndbe nherited along with j/; Both Statement | and Statemen; Il ardfy;.
the host DNA”} (2) Statwnem Lis true but Statemen; ! ;;-.ﬁiqg,:

D, The alien piece of DNA is nog an integra| (3) Statemeny | is false byt Statemen || 1&.*
part of chmmosnme.

(4) Both Smtmneut I and Statement 1} ﬂﬂ?_tﬁu
]

1y
o A transcription unit in DNA is defineg Primari

by the three regions in DNA and these gare With
() p and E gp| & reéspect to Upstream ang down Stream eng:
(2) Bang ¢ '}’:1" (1) Structural gene 'Irmmpumna Upemtu[gtne
[}/ Aang g mlyr-{ (2) Ind ucer, Rupressor. Structural gene W)
P . N
4 Aand g:] ol A3) Promotor, Structurg] gene, 1ermmatuﬁ
(4) Repressur, Operator gene,'Structyral ﬁene
glish | " [ Cu;:[ﬂ]_,,
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“Qﬂ.

l]'&{j

«(3) (a) Peri v BNP
", ) (a) €rigynous; (&3 Perigyngy
: X Ynous
) (a) Epig}*nous: {o) Hypogyioy
4 YPogynous

114 Which of the follow

actinumurph ic flower?
(1
(3)

115 Which one of the followin
classification of fungi?

= N

ing 'S4n example of
Cassia (2) ‘:'.f_a.';;n
(4) Datwra

Sesbania

£ 1s not a criterion for

S

) Mode of nutrition \
(2) Mode -:::i'spu:‘e_furnm:iullrl_r'-
(3) Fruitingbody 0

Morphology of myceliuni™

-
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“Yiitiom of Verlulst-Pet!

L}
Fa

m thig cquation, K "1"“!.“-.!"“"ﬂ
i
- ' Biotie porentin!
-7 Carrying capacity
it 1 p
v Po Ellh
Population densit " perense

[F 31 Intrinsic rate of 0 to

the basis of Mendel's L .
" _-\. Ot of one pl..if o \ .
and the othet I8 /<5

the characters ) 3
generation. .
€. Factors occur i
lants.
D! I:;'h-:“:iiscrﬂlt unit [*9
) character is €4
E. The cxpnﬂh’“‘:ﬂi“
characters iS f"“w
Choose the
h!.'lﬂ‘.\.;
_,[H- r\,C.D
(2) B,cand
(3) A, B.Gs
(49 A,B

i g |
o s

: -nr"‘
118 Match List Wit " iy 1is

List 1
A. Rhizopus
B. Ustilago
C. Puccinia
D. Agaricus
Choose the €

below: o il D-ﬂ

1) A-L,B
{ AL, B-IL, €=l nﬁ
B4

= C'lll
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